
1

1

2

7

5

4

6

9
8

3

10

11

12
13

20

17

16
15

14

18

19

22

21

23

24

25

27

26

28

29

29

29

29

29

2

3

4

5

7

6

8

9
11

12

13

10
14

16
15

17

18

27

26

28

19

22

20

21

25

24

30

30

FSA ACR STANDARD STEM

REAR BRAKE CABLE

FRONT BRAKE CABLE REAR DERAILLEUR CABLE

FRONT DERAILLEUR CABLE

FRONT BRAKE ON 
RHS

FRONT BRAKE ON 
LHS

Number Part Descrip�on Quan�ty Torque Se�ng

1
Bo�le Cage Bolts

M5 x 0.8P x 25mm
5 2NM

2
Lower Headset Bearing

51.8OD x 40.0ID x 7.5H - 45x36DEG
MR019 (FSA)

1 -

3
Upper Headset Bearing

51.8OD x 40.0ID x 7.0H - 45x36DEG
MR196 (FSA)

1 -

4 FSA ACR Headset Compression Wedge 1 -
5 Headset Top Cap (Vitus/FSA) 1 -
6 10mm FSA Headset Spacer 1 -
7 5mm FSA Headset Spacer 1 -
8 FSA ACR Standard Stem Cable Guide 1 -
9 FSA ACR Standard Stem 1 -
10 FSA ACR Stem Bolts - Steerer Clamp 2 6NM
11 FSA ACR Standard Stem Top Cap 1 -
12 Headset Compression Bolt 1 -
13 FSA ACR Stem Bolts - Faceplate 4 6NM
14 FSA ACR Standard Stem Faceplate 1 -
15 Front Derailleur BB Cable Guide Bolt 2 1NM
16 Front Derailleur BB Cable Guide 1 -
17 Internal Seat Clamp - Venon Specific 1 8-10NM
18 Seat Clamp Cover 1 -

19
Seat Stay Bridge Bolts

M5 x 0.8P x 13mm
2 2NM

20 Seat Stay Bridge 1 -
21 Front Derailleur Mount Bolts 2 5NM
22 Front Derailleur Mount 1 -
23 Front Derailleur Mount Blanking Plate (1x Setup) 1 -
24 Front Derailleur Cable Guide 1 -
25 Fender Bolts - BB 1 2NM
26 Rear Brake Cable Guide 1 -
27 Fender Bolts - Seat Stay 2 -
28 Vitus Hanger 22 1 2NM

29
Fender Bolts - Forks
M5 x 0.8P x 15mm

3 2NM

Descrip�on Detail

Material T800 Carbon Fibre
Layup Uni-Direc�onal

Front Axle Dimensions M12 x 1.5P x 123mm Length x 14mm Thread Length
Rear Axle Dimensions M12 x 1.5P x 172mm Length x 14mm Thread Length

Frame Weight

XS - 778g
S - 792g
M - 794g
L - 796g

XL - 846g
XXL - 847g

Fork Weight
Fender Mounts Yes
Pannier Mounts No

Fender Mount30 1 -


